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(g9 Which of the average is/are also known as average of position ?

1. Answer the following questions as directed. : 1x8=8
O 2ITRR0IN ol S Oes Rl ' @A 91T SRER 91T e Tl Y
(a) Write True or False: (h) Fill in the blank :

Al o187 1 8

Coefficient of variation is equal to

(o oo ol g

If @) Ac B and BNC=¢, then (o) AMCE g

OReNE @diE |
(b) Let (sl 27) A:(Q s 3]? Bz(S o 1} | .
TR 52 2 RS 2. . Answer the following questions in brief: 2x5=10
Find (Fefa <) ¢ AB’ ! , ol 2HITRR0IE BUGE Bed WAl ¢
(¢) Define null matrix. .(a)l A Su.m of money at simple interest becomes L of itself in

6 years. Find the rate of interest.

A Qe Tkl 9l |

i
(d) Find the value of ‘n’, if Wﬁ_\s\s G ARSIR 6 IO Wad & 77| 7ed TR el < |

‘v F AW {3 - () 1f &%) 22C, = 22C,,.,, then find the value of "C, (cofoal 'c, =
S Bfeped 1)
”PS =20.”P3
(c) Find the matrix C so that A+C =B, where

(e) Evaluate (Sf7ed) : y
C GTea Win ©feiedl ame A+C =B =@, 19

6 oy = a5
P, | A:[i : 2} and(mw:(é ’ ;]
() Fill in the blank : | - ‘
AT I =7 41 3 | (d) lf(m'%)A:@ g} B:[i ‘%J
Arithmetic mean is always __ Geometric mean. show that AB is a unit matrix.
BADINCE B e T s e o s A | ' @eql (@ AB 9Bl &5 (T 2 |
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() Of the numbers 78, 82, 36, 38, 50, 72, 68, 70, 64, find 0, and

Qs -
TS AP Rl Q, WIe Q, Sfved

3. The difference between S.I. and C.I. on a certain sum of money for
3 years at 5% p.a. is $213:50. Find the principal, S.I. and¥ e

3

aﬁas%wswammﬁﬁ%ﬁﬁmmwe%wa@wm
oS S #(18Ry (202 213.50 B | S, TR TS Ol b TS [ =5 |

4. Draw the graph of: (any one) ' 3
(T SRk 541 ¢ (Fie=piean <or)

(@ x+2y<10, x+y=1, y<4, X% Yy=0

(b) 2x+y =24, 3x+5y >15, x>0, y=0

S. Find the coefficient of x® in the expression of (1“x+2x2) ‘(1 _x)lz _

18
(1—x+2x2J (1-x)? efee x® 3 v fdg 1|
I 2e] o) el
6. Let (W 2«) A=({3 0 11, B=|3 0 2|, show that (M3 es @)
860 Q.
AB %= BA . 3
7. 8.D. of n-natural numbers is Ji4 , find ‘n’. 3

‘0’ Fhelfes ALAE SEE pife @ V14 =, ‘0’ 3 99 Hefg 41 |
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10.

1

The S.I. and C.I. on a certain sum of moﬁey for two years at the
same rate are respectively 21,800 and 21,840.50. Find the sum
and the rate of interest. , S

GCP AT I AW ¢ [ AR 179 eoRe e Fo Wi begia 3o
R 1,800 i 21,840.50 | 97 (61T O 21 [efa 941 |

A man deposited 400 every year in a fund at 3% p.a. compounded
annually. After some years he received 34,064 as amount from the
fund. Find the no. of years. 5

& JeT Afe T AR 3% 270 Bl Afere 2400 T T | g 7% Pige

(9€ e *[/1 “fme Boitel 24,064 o° FRIET | T AT {1 |

Or

A man decided to buy a colour TV at 216,500. He paid 22,500 cash
and remaining balance in 15 equal yearly instalments at the rate
of 4% p.a. C.I. What was the value of each instalment ? -5

a5 (2 216,500 © G5t 767 BfS fofeiaice e et | (08 AR 4% varge
Hed 29 156! i ARG 5w 911 47 sty sk 3 22, SOOH‘STW‘T?‘%M
eifecsl i 5 fwm o e

Prove that (&3¢ <91 @) ¢ 5

1 i 1 i 1 < W 1 fi n
G e e 3n(3n +3) 9(n+1)

From 7 gentlemen and 4 ladies a committee of 5 is to be formed.
In how many ways can this be done to include at least one lady ?
S

7 G SUENR YIS 4 /I AREE o[ 5 S @2 ARES sl = 25 | e
GSEIG] TEFIT TWe FEAC A30H! [P SR wiRa “ifF e
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14
12. Find the term involving x'° in [x -—] _

14
(x4—-1—2] © x 10 ¥l 2meol [ 74|

X

13. Prove that (&304 <1 (@) ¢

a+b+2c a b
c b+c+2a . b
c a c+a+2b

14. Solve by using Cramer’s rule :
(T G i <=1 3

x+2y-z = 9
2x—y+3z = =2
3x+2y+32 9

Il

Or

=2(a+b+c)?

01 . . :
If (3f) A:(O O]- and (W1%:) I=unit matrix of order 2, (I= @55

GTer 30 W® 2) then show that (sfea oredl @)

(bI +cA)® = b*I + 3b%cA.

15. If the median of the following distribution is 42.5 markg fi

value of f:

3fit oS fral ITAGE WO 42.5 TH L, (0T £3 W Fofy 0 ¢

Marks « :|20=-30 | 30-40 | 40-350
No. of .
Students : 6 10 e

50-60 | 60-70

Also find mode if f= 12.
AW f= 12 T, (SCF I 39 Sfened |
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nd the

S+3=8

16.

17

18.

Find quartile deviation and variance of the following data :

4+4=8

oo WA ~al bedice] Rpifs S aten Sfed ¢

Mid-value : | 100 110 120 130

Frequency : | 20 26 38 16

(@)

(b)

(b)

Write the advantages and disadvantages of correlation

coefficient. 3
R ol Al S PRl R o

Find the co-efficient of correlation : 5
FRITHE NS e 4l 8

oG 3 &, 7 8 S 15 16

y 15 18 22 24 19 05 31

Two dice are thrown simultaneously. Find the probability of
getting an odd number on one dice and an even number on
the other. 4

uol SAMI AT wlrrea | <5l s 9 #f0 Sy AR i
SICE! AMI @2 41 o e eeaE Feike Fog i

If a pair of dice is thrown, find the probability that the sum
is neither 7 nor 1L. 4

i o1 “Al nfEredl T, (O0S R YOR (Asiwa 7 ¢ IR Wi 11 8
@i Tsikel Sre |
Or

State the mathematical definition of probability. What are its
limitations ? - 4

Feiels sifdfes el fidl | 239 SpRkapeE & 2

X
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